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1.
Ifcos (x) =0, csc (x) <0, in which = 2 icos (%) >0, csc(x) <0 1A
quadrant does the terminal side of X Aagl 3l Sl aliall 48 23, G2
angle x lig? '
| Quadrant I| LI |
| Quadrant Il LI A ) |
| Quadrant [V =l |
| Quadrant | Ja¥ a il |
b
2.

X X
Ify=5—e; y:S—E&Ede
3e" + 1 JeX + 1
theny' = ? Y= 78
i SEx &
9e?¥ + 1

| Se¥ + 30e2¥ |
(3e¥ 4+ 1)¢

Ce*
(3e¥ + 1)?

CeX + 30e2¥
9e2% + 1
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3
The number of daylight hours, y in City Ain AL oyl Glelld 23 ges B4 S
days, x, from .January_‘l, 2017, can be sliaf dlated) At ¢ 2017 w1 e e X ;?Lﬁy1
modeled by the equation below.
y=3.065In(0.017x — 1.40) + 12.23 y=3.06sin(0.017x ~1.40) + 12.23
How many hours of daylight does this model P o 3 i el el el an
predict for February 14, 20172 2017 A 214 ¥ ?‘“l_ e ;“1“: = PS
Round your answer to the nearest tenth. Be Gee o Y ial B
[' 12.1 ]
| 104 |
[’ 12.2 ‘]
|f 9.4 ‘]
4
Which of the following functions will have a vie Juaia po oS Al J gl e ol o
graph that is discontinuous at x = -27 fx=-2
flx)=+x+2
flx)=(x-2)?
X
X =
fx) X+ 2
2
fx)=1-—
X
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5.
Evaluate. e 2
(-3)°
e ,
| -9 |
b y
|/- -\'u
| 27 |
. i
e ,
| 27 |
A oy
e ,
| 9 |
p S/
G.
Find the limit. Al aa
X2 +2x -3

x=00 2x241

¢ B
0

h #

¢ B
1
2

., A

e B
-3

., A

e B
o0
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7.
The population of a small village for certain saal 8 yuiady J§ S et sl Jpall i
years is shown below. A s
- Base Year Estimated population
Year el A A giall ol
2003 3 3218
2005 5 3,628
2007 7 3,721
2009 g 3,571
The population for this village can be e gl el 21.,):11 sigd Sl Slaad dada S
modeled by the expression shown below, 2000 A e e ol gl 220 f i ol
where 1 is the number of years since 2000.
P=2,649(1.045)
What does the value 2,649 represent? ¢ 2,649 Al Jias 13k
| the predicted population in 2000 2000 2w a8 giall Sl slaas |

| the predicted increase in the

Sl Slaes 8 dal gl Ll sal oyl
population each year -~ o e el A ) il

|' the population of the village in 2649 2649 4w i @l SIS slaas |

| the percentage the population is

. . LSl Bals o el giall A g A gall) Anall
predicted to increase each year ' '
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8.
The figure below shows the graph of () A iaia oli] JS2 =i
function f{x).
f(x)
)
| l’ 5
il \
J15 \ ‘
BE 21,? 1234s 678 é’ e
1S ]
: ‘
* N % |
A second function g(x) is defined by the el 48 2 g(x) salad
equation g(x) = -3x + 2. Identify the true g(x)=-3x+2
statement below. e et Aaaall 5 el 23a
./- N -\'.
| f(-2) is greater than g(-2) g(-2) o= < f(-2) |
./- N -\.
| f(-1) is less than g(-1) g(=1) o= #al f(-1) |
% )
|’f- N -\u
| f(1) is less than g(1) g(1) o= =l f(1) |
\ )

[ f(2) is greater than g(2) g(2) o= <1 f(2) ]
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9.

10.

Suppose that [—g y] Is a point in aki [—g y] il S 1) edaa gl B gy
quadrant IT lying on the unit circle. _*_'ﬂ_",l'. Q_,)l'. "
Find y. yodag
V2
3
_V3
3
V7
3
Ve
3

At the beginning of a study, a certain
culture of bacteria is predicted to
increase.

A sample of 3000 bacteria selected from
this population reached the size of 3132
bacteria in two hours.

Find the hourly growth rate.

Use the formula, A =AG9“' D where:
A ig the final amount at the time §;
AD iz the initial amount;

ris the relative rate of growth or decay;
tis time in hours;
e is the natural logarithm.

Round your answer to the nearest
hundredth.

Answer:

%

F gt aae 2oy o il el B o Bl 2
Lol G e

& el 128 e 22uS 15 3000 s &
ofele (M2 3132 D leae s

- 1 h St i
Anioll ot lme L_.._;;

Cums A=A el s

e el aie Lpell Sl anall 6 A
el pall Bl aie L ol soe s OA
ezl Jatll Jos 0 1

el o) p t

ekl e i e

e e s o 2 Slila] 7R

Ay



9 zdgel Cludly il
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11.
What is the sumof+/ 27 and +/ 1087 108 54/27 Ma_.a_:.\_lﬁah wle
427 ‘
343
4 135
:NE)
\
12
Simplify: g L KT 8 2
-§+?
W
-§+5
W
5 3 +7
7 ‘ ‘ Sw+5 ‘
7 A ( 3+7w
‘ ‘ 3+8w
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13.
Which relation does not represent a e2lls B33 Y b Les 423 4
function?

3.2 8.8
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14,
Find the limit. Al o f
T ne+1
n—= oo n
| o |
| 2 |
| ! |
| 0 |
15. |
The graph of a function fis shown below. olial g f AN i
y
: [
|
|
|
|
|
|
: 5
|
|
! 11
|
|
: i f =X
-1, O | 2 3 4
|
|
|
|
|
|
|
|
If lirn f(x) exists and fis not continuous dhaic 2 f gaagms |imflx) i1y
x—+b x=+b
at b, what does b equal? fhdudladcp Lic
| 0 | ( 2 |
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16.
Which of the following equations is Oliaf dain gall Alaladl)  61S5 A Y aladl e 7
equivalent to the equation shown below?
x?—6x—-27=0
{ (x —6)2 =63 \
|" x(x—3)=27 "|
(x—3)°=28

(x —3)2=36
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17.

.'/ ’

.

.,

The three figures shown below on the

coordinate plane are congruent.

Slaal) 5 sivudl b slial dan gl 2530 J';:?1

¥

&

9

8

7

&

5

r

3

2

1

- P X
0 - 4-3-1-1_51' 1234567 E0

-2

=3

g
2—+s
"6

N 3 f

-8

-g

A

Identify the statement that describes a
sequence of transformations that will

transform figure 1 into figure 3.

g Al 200 el Ald a1 5 sl 33a
3 Jsall 1 sl Jga

.

a rotation 1807 clockwise about the
origin, followed by a reflection across
the y-axis

-
U Aelell o jlae &l 1807 o 52
J_a:.._.all L}E H:.J'IE.LIE f-.-_"-'__' .-.J.La‘)rll i'a.ﬁ.l
YU

i

a rotation 90° clockwise about the
origin, followed by a translation 3
units to the right

~

P LJ_F‘ ac ;._.J'j;:, 230 80" i;:l_.a'}‘:'
el Dlan 3 ad] 4a s Jual

.

a rotation 180° clockwise about the
origin, followed by a translation 2
units to the left

-
U detal) G jlie olad 180° ol 5o
PR T R PV . PRy Sy B 2y

R

a rotation S0° clockwise about the
origin, followed by a reflection across
the x-axis

- ,_,1-_5:‘& ;.EL-.-'-“ ‘T"JGE' .3'-;_‘-:']—] gﬂ{l ;JI-.J_?'\
X GEY ) pmall go GG 4n sy loal]
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18.
Solve for v. s alledl Ja
-3v+11=-8v+51
v=(__)
19.
f T A KTRENE- E NP i.'.b.h.._ i
A new pump can drain a pool 4 times faster |0 4 Griese dlan i o O s 3

than an older one.

Working together, it takes the two pumps 4
hours to drain the pool.

How long will it take the older pump to drain
the pool working alone?

Answer :]

hours/ —icle

20.
A company makes cones out of solid foam.

Each cone has a height of 10 cm, and its
base has a diameter of 12 cm.

Use m =3.14 and round your answer to the
nearest whole number.

How much foam is needed to make 3 3
45 cones? em :] e

_uﬂ:hﬂltamltdﬁ&ft

4 ool i e (5 ppis e Y] Juntn

el

was of fasoill dainall Lealiain Al saal & L

L S| F

4|

& o alaniuls Joy jlaal delivay 48 2 o g
Alall s o umae

i Jebag au]Q g de JS el f aly
PR, PrOST

so Y el GE53.14 = s

kil

™

padl Lealing ll s 2 3 al
fhs pe 45 delial
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21
Which sketch shows the inverse of the Obiaf Alola oll 4u Sl Allaall Jies a4
equation given below?
y=a% a=1
y
Y A
- > X < > X
1
' Y
Y, .
,' "/
y y

-
-
>
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S gt i o) 250 S

22
The three figures shown below on the
coordinate plane are congruent.
¥
_.___I ) E— q‘L —
B i RN A EEEE e
I
SEvEsed T d i iyaser e
; -'I : I
EYPNEE NN 1
|dentify the statement that describes a
sequence of transformations that will
transform figure 1 into figure 2.

PO | e PR Bk U0 R PO 4 R RGP

2 JEal Y Jgal a3

a rotation 180° clockwise about the
origin, followed by a translation 3
units to the right

b

Jsm deludl G i sladl 3 180° ol s
'_‘__]| Dilam 5 3 lssl] 4=y el Aam

Cedll

vy

a reflection across the x-axis,
followed by a translation 3 units to the
right

\_

st aarty oy &Y saall e GaSa)

el ) sy 3

a reflection across the x-axis,
followed by a translation 2 units to the
left

\_

~

s ety X ) ) 0 S
e P RN

.-“f.
a rotation 180° clockwise about the
arigin, followed by a translation 2
units to the left

b,

~

o Zeladl o e oladl 2 180° ol jse
M oian g e axly <o) Al
Ll

"t -

&
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23.
ff(x) = xYand g(x) = x + 1 gh)=x + 1, f(x) = x* o o
What is the value of : s a e
lim flg(x)) = 2
=2
i N
19
p A
i ™
17
p A
i ™
48
o A
i ™
81
i e
24.
What is the value of the expression below? R TR -3 N
72-3x(4+2)+15+5
i ™
40.2
M -
./ '\
58.2
M A
i ™
| 34 |
T, 4
i ™
43
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25.

The points (-13, 20), (21, -31), and (7, -10)
are solutions to a linear equation. Which of
the graphs below will contain all the ordered
pairs in the solution set of this linear
equation?

-
'.
\
. 7 -
? L +
|
s
\‘
1 33—
. \‘ .
< A\ ’
654121 3 4 )
4 1
. 2 ..
3 '\
2 N :
\ 14
. /
/ ~
y
A |
7
| |
——t— +—t o4+ ——
. |
N Il s 1
-] :
€S % 2 3 51"
2 A,
3 1
4 -
| L - 4
A\ J

If you are representing the value of a given
stock at monthly intervals, which graphical

(7, —10) 5 (21, -=31) 5(-13,20) Ll
bl Ayl il gas 1) (ol Aadas Alaleal ke 0
22l Jall A jama 3 45 3l 21550 a5 50

¢ bl Aol
y
ALl A
|l /
of |11/
s
% /
7 /
2 /o'
:/ :
- X
EREES y TEERER
|
AT
e 1 !
Y | |
- \
- a" "
v A
~
¥y
T T A
— b -o-, — - ,L, W
| < | |
7,;4 Lt .ﬁ z
117 '
'
P |5 ||
| 37 14561
7~ o 5 I N e |
3
4
g

S 8 B e 093 3 A i 3 5 2 1Y
& Jamil o Al Al ol g A e

representation should be used to best T3 el Al ola) i

represent the trend of the stock?
s ~
| box plot o el 53 3 gaseall |
\ J
I ~
| circle graph 5 s Jaadl |
\ J
s - ~
| line plot Ll Jaad) |
\ J
s ) ~
| line graph astidl) sl o) |
\ J
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27.
11 . L . . . B I
[x, - T] is a point in quadrant IV lying Syt jla e [x, - T] Al o
on the unit circle. 220 &l
Find x2. X2 e
, )
Xt = —
28.
Multiply. i el
5 VT }
— X7 = ——
6 )
29. _
Oil is leaking from a tanker at the rate shown  JSI Al eliol pom sl Jhaalls 20 (e oy o iy
below in liters per hour where { is measured e lally st s Aol
in hours.
R(t)=2,000e 02!
How much oil leaks out of the tanker from Cre 3l oA SEBN e o il o3l late oS
the time t=0to t = 107 =10 At=0c
E N ' -
Round your answer to the nearest liter. 9 G . EEN R
' ™y
| 54 liters |
'd ™y
| 14,778 liters |
A y
|' 8,647 liters |
A _y
I Y
| 865 liters |
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30.
Simplify. an ]
-1 5
— + —
6 6
_2
3
rd g uy
3
_1
3
1
3
31.
Find. 23l an
Write your answer in simplest form. 5 e a5 Slila) LK)
6 3 A~
— x4 x ==
S
32.
Find - e da g

lim flg(x))

e

2

when f(x) = ;1 and glx) = x

- 1 \
2

- . \

p 5 “

p 5 x.
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33.
For x = 0, which expression is equivalent to ¢ olal il Ay ok ol ¢ x>0 askd
the expression below?

&%
19
x © 210
X 3
."}

34. At which of the five points on the graph inthe  JS&l & Jasdl Jo wedll Lalidl o 2ot 5] 2o
figure below are both % and % R jig 3 j}t oo SIS 58S el
negative?

Yy
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35
letA=—-3+5i, F=4-2/,and C=1+6&], 3§ B=4-2j sA=—-3+5j s

where / is the imaginary unit. Adlasdlsoadl j lua C=146]
TA-BC i e
What does A — BC equal? '

[ 19+ 27i ] [ 19 - 17i ]

[ 5-17i ] [ 5+ 27i ]

36,
Solve to find the value of x. Al Alaleall & x Ao an
05(5—-7x)=8—(4x +8)
Answer: [ ] AdaVl
a7
If Fatima takes 48 minutes to walk 3 AS ¢ yla g€ 3 Adli pudl 4280 48 Aadald 28 jail)
kilometers, how long should it take her to et S 1Y) e €5 pandl 5 i e il e
walk 5 kilometers maintaining the same P pudl b
speed?
| 67 minutes |
| 77 minutes |
| 80 minutes |

| 60 minutes |
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38.

39.

Researchers in a local area found that the
population of rabbits with an initial population
of 20 grew continuously at a rate of 5% per
month. The gazelle population had an initial
value of 30 and grew at a rate of 3% per
maonth.

Determine how many months it takes the two
populations to be equal.

Round your answer to the nearest tenth of a
month.

Maonths:

)

College A has approximately 3 = 10°.

College B has approximately 30,000
students.

How many times greater is the number of
students at College B than the number of
students at College A?

| 100 |

Al il (W ae ol Alacdabaig oy giali g
i e ol A & ogialiaag
e

30 oY el ?__13{2” Jasl) h;'.E.Lu.-.ﬁ.ﬂ1$f5

s 1S5 Lai 38 L 20 A5V laoe
Lt 73 Janer sas Y1 3

22 g Y el 20e sl g el oS 2an
Tl )

el e e ap e A ) sl 3

: ey

3% 10% < L (A) sl & SOl se aly
L (B) A€ 3 ol s s et ¢ il
MU= 30,000 <

2o e Sl (B) Al 8 COlall dae 5 e oS
T(A) AL & Skl

|j' 30 ‘j|
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40.
Identify the situation where the answer to the et Jadl o Adal) Lol oS ) Adlad) 23a
question is zero? s

| A trail on Jebal Hafeet, starts at an
elevation 100 meters above sea
level. The trail ends at sea level.
What is the change in meters of the
trail in relationship to sea level?

100 gl ) o fas couta Jia 8 3 )k
So gy el sl s R G5 e
o ol A8e Lo | sl mha g e

€ il e s s JaYls (3 il

| A boy leaves his home and walks 1
kilometer due north and stops. He
then walks 1 kilometer due south and
stops. At this point, how many
kilometers was the boy from his
home?

sladly flagl€ 1 Afl Sezdl e dly ple
1 Ailal _fe lld dey i@ g el

bla e o8 gig o giadl alacly yia gl
Tl e po gl st o glS oS (Alanl

| A boy jumps dives into a swimming

pool 2 meters above the water. He
sank 2 meters and then swam to the
surface of the water. How many

meters did the boy swim?

el dmie o edal lidS o 8ol
e ™ Ry B
oale plall mlas Ged fie 2 adip il
¢ algll e Al !

| At a ski resort, the low temperature

was —5° Celsius and the high
temperature was 5° Celsius. What is
the difference between the high
temperature and the low temperature

that day?

5l all da o J S ol gl aaie 3
L. #5675 e lels e —5°
Ao s JHg s )l e 0 ol o 5 A
Cagdlally &5




